er and complete :-

1. Copy these into your jott
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2. Learn your 2 times and 3 times tables.
to ask you your tables.

- Pack of 6 candy. 9 sweet dummys
3. [packet of 8 lollles SB:;; g; ;;gob st?cﬁc so v . G@ &
‘ —
ey
Ci) ? ? ? Sl || R

How mcny are there in i-

' ' ts of dummys
2 packets of lollies (b) 3 packe :
g g 3 goxes of gobstoppers (d) 2 packets of ccmdysl

Mild Task - Answers for question 3. You can self check question 1 with
your helper or on a calculator. Have fun!

Question 3 Answers
(a)2 X 8 = 16 lollies (b) 3 X 9 = 27 dummies
(c) 3 X7 =21 gobstoppers (d) 2 X 6 = 12 candy sticks
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1. Copy these into your jotter and do them :-

@ O © (D
37 59 43 65
X 2 X 2 x 3 x 3

(e) () @ Ch)
84 58 17 84
x 2 : x 3 X 2 X 3

2. (@) A bag contains 37 sweets. How many sweets are in.
2 bags ? ' '
(b) A cake weighs 48 grams. How much do 3 cakes
weigh 7 -

(c) A car travels 83 km in 1 hour. How
far could it go in 2 heurs ?

Hot Task - Answers below.

Page 19 Answers

18.

1. (@74 (b) 118 (c) 129 (d) 195
(e) 168 ) 174 (g) 34 (h) 282.

2. f(a) 74 sweets (b) 144 grams (c) 166 km.
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Homework Examples

20.

87
X2

1. Copy these into your jottep
(ad

and do them :

s . 95 -
€] 22 (D

(b) €8

£3
b

X 3

Jocf-; has spilled ink over his work
again. #rite these cut in your jotter
and fill in the missing numbers :-

@ 2 o D@ (o @
-_x_z. x 3 C ) x 2
i74 168 154
(d> 5 = 48 & %
’ _@ X@ ( j X
112 144 171
Extra Hot Task - Answers below.
Page 20 Answers
20. | 1. (a) 114 (b) 204 (c) 190 (d) 267.
2. (a) 87 (b) 56 © 77 d 2
(e) 3 () s7
- X3

171




